	[image: image1.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2012
Class – XII
Subject –Chemistry

 TIME – 3 Hrs                                                                                                        MM 70   

INSTRUCTIONS:

i)   ALL QUESTIONS ARE COMPULSORY. However internal choices are given.

ii) Question nos 1 to 8 carry 1 mark each.

iii) Question nos 9 to 18  carry 2 marks each.

i v) Question nos 19  to 27 carry 3 marks each.

v) Question nos 28 to 30 carry 5 marks each.

1. What is the co-ordination number of hcp crystals ?                                          [1]

2. Aquatic species are more comfortable in cold water than in hot water. Why?  [1]

3. What is the function of cryolite in the extraction of Aluminium?                        [1]

4. Why does conductivity of a solution decrease with with dilution?                     [1]

5. Name the factors that affect the rate of reaction.                                              [1]

6. PCl5 exists but not NCl5 . Why?                                                                         [1]

7. H3PO3 acts as a good reducing agent whereas H3PO4 does not. Explain.       [1]                        

8. Write the two applications of co-ordination compounds.                                   [1]

9. Calculate the packing efficiency in hcp/ccp crystals.                                         [2]

10. Write short notes on a) Schottky defect , b) F – centre.                                    [2]

11. The cell in which the following reactions occur :

2 Fe 3+ (aq) + 2 I -- → 2 Fe 2+ (aq) + I2 (s) has Eοcell = 0.236 v at 298 K.           [2]    

Calculate ∆rGο and the equilibrium constant, Kc, of the cell reaction.

12. a)What are the assumptions made in collision theory for the equation,Rate = ZABe-– Ea/RT?

b) What is the effect of catalyst on activation energy?                                     [2]

                                      OR
i) Prove that t1/2 = 0.693/k                                                                               [2]

    ii)  The half life period of a first order reaction is 60 minutes.What  percentage will

           be left after 240 minutes ? 

13. a) Distinguish between order and molecularity of a reaction.

      b) What is meant by pseudo first order reaction? Give an example of it.

 14. a) Distinguish between physisorption  and chemisorption.                            [2]

       b) Why does physisorption decrease with increase in temperature?

15.  Write short notes on a) Ultrafiltration , b) Peptization.                                   [2]

16.a) How would you purify PH3 from impurities ?                                               [2]

     b) Write the principles involved in preparing NH3 by Haber process.
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17. a) Arrange the following compounds in order of their increasing acidity with reason:           HI , HCl. HF, HBr                                                                                       [2]

      b) During the preparation of ozone silent electric discharge is being done. Explain.

18. a) State the factors which govern the stability of co-ordination complex.        [2] 

      b) Write the isomers of the following compound;    [Co(NH3)3(NO2)3] 

19. Vapour pressure of chloroform (CHCl3) and dichloromethane (CH2Cl2) at 298 K are 

      200 mm Hg and 415 mm Hg respectively. Calculate the vapour pressure of solution

      prepared  by mixing 25.5 gm of CHCl3 and 40 gm of CHCl2 at 298 K and also calculate

      mole fractions of each component in vapour phase.                                                [3]

20.a) Define electrochemical equivalent and write its unit.

     b) Consider the cell composed of two half cells :                                                     [3]

         Cu (s) │Cu 2+ (aq) and Ag(s) │Ag +(aq)

       Calculate

i) the standard cell potential and

              ii)   the cell potential at 298 K when Cu 2+ is 2M and Ag + is 0.05 M.

                                     [ Eο Cu2+/Cu = + 0.34 v , Eο Ag+/ Ag = 0.80 v, R = 8.314 j /K/mole]

[image: image1.png]    21. For a reaction : A + B                          C , it is found that                                [3]

          i) the rate becomes double whebn concentration of A is doubled.

         ii) the rate becomes 16 times when concentrations of both A and B are doubled.

           Write the rate law for the reaction and caklculate the overall order of reaction.                                                  

                                                       OR

           The following data were obtained for the reaction;                                       [3]

               2 NO2(g) + F2 (g)                        2 NO2F        

	 Experiment
	Initial concentration of

 [NO2]                [F2]     mol/lt
	Initial rate

Mol/lt/min

	1
	0.20                 0.05   
	 6.0 x 10 --3

	2
	0.40                  0.05
	1.2 x 10 --2

	3
	0.80                 0.10
	4.8 x 10 --2


           Determine the order of reaction and write the rate law for this reaction.

 22. a) Give the mechanism in forming rusting of iron.                                             [3]

       b)Why molar conductivity of weak electrolyte at infinite dilution can not be determined 

           directly.

       c) What are the advantages of using fuel cell?

23. a) Explain the principle involved in the extraction of copper by hydrometallurgy.   [3]

      b) What is the role of cryolite in the extraction of aluminum?

      c) What are the roles of Ellingham diagram in metallurgy?

24.  Complete the following reactions :                                                             [3]

       i)  a)  P4  + SOCl2
           b)  XeF6 + KF   

      ii) Draw the structures of the following compounds :

                  XeOF4 , H2S2O8
25. Explain :                                                                                                          [3]

      a) There is a greater range of oxidation states among the actinoids than lanthanoids.

      b) Atomic radii of second and third d- series elements almost same.

      c) The highest oxidation state of a metal exhibited in its oxides or fluorides only.

26. a) What is spectrochemical series?                                                              [3]

      b) Discuss the nature of bonding in metal carbonyls.

      c) [Fe(CN)6] 3—is weakly paramagnetic. Explain.

27. a) What are secondary cells ? Give two examples.                                       [3]

      b) Deduce a relation among conductance, cell constant and conductivity.

      c) Write the two units of molar conductivity.

 28. a) Explain i) vant-Hoff factor                                                                           [5]

                        ii) molality.

b) Calculate the depression in the freezing point of water when 10.0 gm of   

CH3CH2CH(Cl)COOH is added to 250 gm of water .Ka = 1.4 x 10 –3,

Kf for water = 1.86 K kg/mol. Density of solution = 0.904 g/ml.

                                                             OR

i) Explain a) abnormal molar mass,                                                              [5]

                b) azeotropic mixture.

                c) negative deviation from Rault,s law.

       ii)   What are the factors responsible for the solubility of gases in liquid ?

29.a) Explain the steps involved in the preparation of sulphuric acid during contact process.

      b) BiCl3 is more stable than BiCl5. Explain.                                                      

      c) Except water,reducing character of hydrides of group 16 elements increases.Explain.

      d) What happens when H3PO3 is heated ?

      e) Flurine is a stronger oxidizing agent than chlorine. Why ?                                      [5]

                                                                    OR 
      i) SnCl4 is more covalent than SnCl2. Explain.                                                         [5]

      ii) What is meant by aqua regia ? Write the reaction involved in the reaction.

      iii) ClF + H2O →                       . Complete the reaction.

      iv) How XeF6 can be prepared ?

      v)  How chlorine can be prepared by Deacon,s process ?

   30. i) Indicate the steps involved in the preparation of K2Cr2O7 from chromite ore.     [5]

        ii) E0M+2/M values for the 3d series behave irregularly. Explain.

       iii) The enthalpies of atomization of transition metals are high. Explain.

  iv) La(OH)3 is more basic than Lu(OH)3. Explain.

v) Which is a stronger reducing agent Cr+2 or Fe +2 and why ?

                                                   OR
a) Actinoids show more oxidation states than lanthanoids. Why?                       [5]

b) Indicate the steps involved in the preparation of KMnO4 from pyrolusite ore.

c) Balance the following equation by ion-electron method:

     MnO4-- + S2O3 2-- → …….. +  ……… ( alkaline medium)

  d) Cu+ is less stable than Cu+2 in aqueous solution.Why?

  e) The melting point of Mn is abnormally low in the 3d series. Explain.
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